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% Wrile your iitdes, aumber i inthe space prowdﬂd in the answer sheer. '
#  Follow the lnstructlons yveu on ihe back of the answer sheet carefully. .
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Which of the ;f(jj-liow'iﬁg.is differcntifrb:r': tﬁe,.&:legtrqn geometry of 8,0 ion, .
() B L@ SOF . ()SR - W) NHy . (5) oo

Which of the following statement i incorrect regarding hybridization.
(1) Cnly.the orbitals of the same atom tmdez go hybridization,
(2) Bond angle between the hybridized sp  orbitals is 180"
4] Whea considering the Nll:molecu!e the N atom ‘shoy ws sp° hybridization, -

.. (4)--Hybridized orbitals which formed. by hybri Idlzﬂtlﬂﬂ contains a snmhu energy and a snmlar shape.

(3} T bonds are not forined belmen hybridized orbltal‘. s

In 1999, a Fu,q:an seientist has made an e!enwni A, iinw urh the atomic number is 114, This had bern
done by the hombarding nuclear reaction with element X which in the Gr m'p two of periodic tabie on Pu

(Plutoniutn) . The rea uﬂon is given below.
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(1) Butuhe (CqH uJ is use i as 2 fu»,i'-'i') domestic gis cvl‘nnf.rs The amount of Oy has 1o be vred to 0 f":.ncmtc‘
energy by complete conbug tion oi‘ 1kg of E‘utano is,
(C=12 ,H=1,0=16)
() 320k, () 340k . (D) ISl () 382k (5) 1.60ke
(12) A pasticle will a raass of 3.312' %10 & 1 moving in & velosity of 3x16 rog™ -i*ruguf‘ aye length
; of that patticle is, B R an B i, T e e o i
MY 026nm () 0.6Tam 0 (3) 1.34nim - S(4) 1.24nm” (S) 6. ;‘(lnm
(I'EB}' Von.ma ofth Obbs o7 Vcapt}ur of e‘,m!\l I'I'Sc'-fn?..'\"{{l-.a, is the molar rnass if the molar voluing of the
gas is 35dni’mol” ai room temperature. : A, g T B0y Ty K,
Q) 67g @ se T @yieTg (4) i%0g - (5)201g
(14) A 500.00cm’ of solufion is prepared by dissolving 025 of CaCO; in exeess HOC Ca' on
‘concentration.in the solition i ppni is, (H=1, 512, O=16; (=34 5, Ca=40)
£1) 2002ppi = - (2) 4005ppm™ . (3)°450.5ppm (4) 5002ppin . (5). 520.5ppm -
(13) A 0.3101g nt‘r .7(“10'] wal. dw,cﬂ‘ el in _;U cm of \x’af“l Aﬂd acis hhsd wsth ”13")4 ’uv a mukmt ”I I.e

humie redding was 24, 90(,111 when mlb solution was titsated with 4 i fmmlu.g seluiior.

T hr. roncemratlon of KMnOi solution in moldm

; .{Mar’l C=12 U 16

(1) 6.0023 o) 0.0037 '.(3) 00369 @4y 0002° - (5) 0958




Tustructions for qnaestmn no. 16 to 29
For each of the quesi ons 16 to 20, fonr responses (a), (b), (¢) and (d) are gwen One of more of
thﬂse is/are correct. Select the conf:ci response / responses. n according to mf'{ructmns given, on
YOUr answer sheet mar k

: _'(I) If only (a) and {b) dre correct
(2) Ifonly (b): and: (€) ate correct’
. (3)- Ifonly  (c) and (d) are correct
© (4)Ifonly (a)and (d) are dorect
(5) If any cthsr number or combination of resper 3¢ it c‘mect ,
o .Jumma!'y of ah@ve ]imvw uetion. s

O s L, BT, B i i,

only'(a) and (b) [only (b) arid" (¢) | only (c) and (d) | only (a) and (d) | Any. other “oumber or combination
are ,cor_m_cg - ...| arg correct: are ¢comrect - | are correst of rcapume&; is conect

C (18 ~ Which of‘ the foiiowmg si‘atemsm.’s isfare ‘true"
(2) thi& ‘1ght forms a romfm..ous spu,num .
(b} The: Lyman series of hydr ogen em.ssmn spe{‘uum exist in The mfrarf*d regmn nf electm
! maguetm spechun:. . it : . . “ ek B
-'(c} H, line of the. hydm gen ﬁ,zmsqmn specmim has the hlf»’:l@b? (‘nergy in lhc vmble range.

L - ) The e!ectroﬂmagnenc Specu DI Is the diagram whick could b\, obfamed by ordf;mg :ha, o

imqhency of elc-:a,uo magumc waves i asa enrimg order.

) The ml‘snnolcmldz fome/ ﬁ}mc‘s wmﬁ muia bc {}’E,l{*d s & aolutson m w?nch I w% dzssolved i
" anueous I\J .l..:.'mléf i P

{a) d:po!c— =1:"Eucbc* d::pulr_ attmcilum g

- {b) Hbonds - : e
L {c) -ion-rdu ‘ﬂd ﬂ‘mow bonds‘ -:' 5 ‘

Sy d*uo& upolc aﬂmctmns B5 :‘ _ ' ,:.. el -'t;l .

s ( 18) thch of the fni!owmg stawmem :s/ are true ragardmp a, B and Y rays. .

{a‘r B rays are deflected nore-than the other rays in thie magnetic fislds wzth cnmlaf mtensrtxcs
‘}) R'\mn sctive substances ernit thusc, 3 ~rays at: the serne moment in the sarne raze ;

'r(c} o Tﬂ‘;’b ‘and B ra\m are Gﬂﬂwd"d to c)p;msqa dir ec;mu ’!’h sanme ang%as i e cic*cmc i'wid
' (d} Mass of o~ rays are gu,me; ihan r.hdt of 8 and 7 - zay:, :

(19) Wh;uh of Lhe followmrr stmement is fare true? e Rk
(a) !‘ he bmlmg point of Hq% is greaier than the boﬂmg i.mm of 0.
{b} Thebond rmglc of HZS is lasqex than the bond. amg.e of I—I;()
(c)- T hc melting pmnt of H;O is greatsr than the m?ltmg pomt of HF
(d} To forrt H bonds it s esssnttal to bmd a more Piecim neaatwe alom to aH azom, :

(3U} Wm"h Ufiw :oli(w ing f*erﬁﬁx 1earhom’a dqf‘s [ dd wn ha pwn in the bl g rin il
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d) MnO« ?I' s = Jﬁ Mnh'
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-Instruetions for quesﬁom_ mo. 21 t0 25,

In question no. 21 1o 25, two st‘ate’rﬂentsi are given in respect. of each'question.

[

From the table given below, select the 1 :asponse ot of the responssb ( 1) (2), (3) {4) and (5) that
hfsl fits the two statements and maric appmpr:auy on, yonr answer sheet:

iRespmxsc . "-?wst statemem 7 I b AT e T uecomi Slan.ms,nt
T 511N A R True and corrertly L,xpiams 1.he first smtemmt
{2 [ Twe o -7 True, but does siof explam the first statement “OII‘LCﬂ}'
3} Trie . . | False : :
4y . | False  True
(5} -+ False Fajse _
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AIL/2018/01-E-11(A)

Part A -Structured Essay

* % Answer all questions, .

1. (a) State whether following statements are true or fé!:_se.

(i) Boiling points of halogens ingrease with the-ii‘ size. i iiesso i,
(i) The bond angle 6f F~O-F of OF; is higher than the bond
angle of H:O-H of HO - . ¥ g RESNE N -

(iii) Hydlogen bond of HEF is weakcr than the hydrogen bonds of 10

‘(i_v) E’.iBCtl on paxr geom"‘t'y of 8F, 1str;tmhedm] it
'('v) The quantum .nurnbcrs (n, £, m() of valence ei_cci_r'ohs ofa &r

Atom is:5,0, 0

{(vi) ThCCO"diC[}lid{llLS of Li 1s]ugncz than ’chommknt;adm
h},fc{l(}ﬁ{k‘..’ﬂ. o B ' R
(b‘j (1) "Ihe freleton of dimethyl anbydride (C,O5Hois given belov:.

iie O N T ~

‘ | di e
CHy = C~0—~Cw CHy

Draw the raost ac enfa.ur» Lewis stracture for above malocule.

(;1) Draw dnf"‘hi" three: LLW! shuc.,?ulfs (r?ecm'mw sir mur‘b} for abov nm!tzr;u];:, T

: e\ccwt 1hr- sfrur:tuze in pqﬂ {;)

un) ]hmﬁlme ion is rrmver*erl to omhr‘ 'u‘;d in amd;r Tine dlUTn The must

acceptable Lewis structure for the tnolecule of oxalic acid is given below,

lﬂ "{)'. =
55 e
il w

‘The atofis are nuniberzd as follows

.:""7

(3.8 mrrks), .
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Based on the hypothetical Lewis structure given above, state the following
regarding O and C.atefﬁs given in the table below.
(i)~ 'VSEPR pairs around the atom"
(i)y electron pair peometry around the atom

(ifi) shape arourid the atom

iy hybidization of the ot -

ARG markey £ =

IR oacrme
S 1 RREASGHIR

5 te incréasing order of e prop

SMa (18 ionization 2uets

a3

20, HCN; £0y; TO% CH, (e




£, (a} X isacompound having Na .C, and O. Mass percentages of C and O of this compound is
17.91% and 47.76% . The rest is Na. {(C=12,0=16.Na=23).

(i) Deduce the empirical formula of X.

............................... Ldgenatannsarasntiarrarbabernssasns adetsasantasfensnsdinne eoieasitinessrnnasns
: . s . , -
" . ik ’ .
- —— N -
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(i} Write the formula of the anion, if Na presence as 2 inonovalent catio.

{iv) b!a[c, me omc‘amn m;mhﬂ/omcia‘mn sf aje 0: {,amﬁuf the anion
{} ofe

,lm i
.-.;

{v) \amctw: fice p;ﬁs&n’{ in '«30?‘: cry

(vi} Thame bwu secondery iateractions prosend in amagueoas solution ol 7.

L

{b) {ij Caiculate the

0.02 moidia™ KMnG; solution, (K-34, Mn=55, 0=16) °

{i) LE m - Uw"J ﬂlutiah wies. useci fo react with P5em° of sbove agklified KVing, sofution.
(') Wrﬂe reduction ha fm. s r»msat.ian for abova reaction.

{II) W rl*e c,xmiahnaﬁ halt jonic eqlr .imn for uhove mac{lan

(i) Calculate the concentration of FeS0, aqueous solution in motdm™

ot ersciries)




